
MFN081

MFN120

MFN121

 

MFN123

MFN160

MFN161

MFN163

MFN164

 

MFN165

MFN167

MFN080

MFN082

MFN122

MFN124

MFN162

MFN166

MFN168

MFN169

DATE

X:X

APP

ATAS INTERNATIONAL, INC

Allentown PA

610-395-8445

Mesa AZ

480-558-7210

B

SCALE

BY APP

DMR

7/11/2016

TITLE

DWG. NO.

MATERIAL

DATE

REV.

NO.

DESCRIPTION OF REVISION

SH. SIZE

DATE

DR

Rigid Wall II Panel Detail

 

 

DAS

7/25/16

1 5/8"

15/16"

16"

1 5/8"

15/16"

1 5/8"

15/16"

16"

16"

16"

1 5/8"

15/16"

5 5/8"

16"

15/16"

16"

5 5/8"

15/16"

12"

12"

12"

1 5/8"

1 5/8"

1 5/8"

15/16"

15/16"

15/16"

15/16"

15/16"

8"

8"

1 5/8"

1 5/8"

16"

15/16"

5 5/8"

16"

1 5/8"

15/16"

16"

1 5/8"

15/16"

16"

9 5/8"

15/16"

12"

9 5/8"

15/16"

12"

1 5/8

15/16"

8"

5 5/8"

15/16"



Pre-Drill Fastener Holes for Panels Greater than 20'-0" in Length. 

A

DATE

X:X

APP

ATAS INTERNATIONAL, INC

Allentown PA

610-395-8445

Mesa AZ

480-558-7210

B

SCALE

BY APP

DMR

10/5/2016

TITLE

DWG. NO.

MATERIAL

DATE

REV.

NO.

DESCRIPTION OF REVISION

SH. SIZE

DATE

DR

 Rigid Wall II Interlock Panel Detail 

 

 

#10 x 1" Wafer Head Fastener 

Rigid Wall II Panel 

Pre-Drilled Fastener Hole 



MCA661 - Base Trim 

MCA995 - Starter Cleat 

DATE

X:X

APP

ATAS INTERNATIONAL, INC

Allentown PA

610-395-8445

Mesa AZ

480-558-7210

B

SCALE

BY APP

DMR

7/11/2016

TITLE

DWG. NO.

MATERIAL

DATE

REV.

NO.

DESCRIPTION OF REVISION

SH. SIZE

DATE

DR

 Rigid Wall II Base Detail

 

 

DAS

7/25/16

*

 

Horizontal Panel 

Base Trim 

Starter Cleat 

#10 x 1" Wafer Head Screw 

Membrane Strip over Base Trim and Fastener 

Rigid Wall II Panel 

Water and Air Resistive Barrier 

1/2" Plywood (min.) 

Insulation

Interior Finish 

3"

1/2"

1 1/4"

1/2"

92

1 1/4"

3/4"



MCA118 - J Channel

MCA680 - Angle Trim

DATE

X:X

APP

ATAS INTERNATIONAL, INC

Allentown PA

610-395-8445

Mesa AZ

480-558-7210

B

SCALE

BY APP

MBP

7/11/2016

TITLE

DWG. NO.

MATERIAL

DATE

REV.

NO.

DESCRIPTION OF REVISION

SH. SIZE

DATE

DR

Rigid Wall II Endwall Detail

 

 

DAS 7/25/16

1 3/4"

1 1/8"

7/8"

1/4"C.H.

1 5/8"

1"

Backer Rod and Sealant

J Channel

Angle Trim

Rigid Wall II Panel

Membrane Strip Over Angle Trim and J Channel

Water and Air Resistive Barrier

Insulation

1/2" Plywood (min.)

#10 x 1" Wafer Head Screw

Horizontal Panel

*

*

Interior Finish



MCA601 - Inside Corner Post

DATE

X:X

APP

ATAS INTERNATIONAL, INC

Allentown PA

610-395-8445

Mesa AZ

480-558-7210

B

SCALE

BY APP

MBP

7/11/2016

TITLE

DWG. NO.

MATERIAL

DATE

REV.

NO.

DESCRIPTION OF REVISION

SH. SIZE

DATE

DR

Rigid Wall II Inside Corner Detail

 

 

DAS 7/25/16

*

2 3/4"

1 1/8"

1 1/2"

4"

Inside Corner Post

Rigid Wall II Panel

#10 x 1" Wafer Head Screw

Membrane Strip over Inside Corner Post 

Water and Air Resistive Barrier

1/2" Plywood (min.)

Insulation

Interior Finish

Horizontal Panel 



 

MCA602 - Outside Corner Post

DATE

X:X

APP

ATAS INTERNATIONAL, INC

Allentown PA

610-395-8445

Mesa AZ

480-558-7210

B

SCALE

BY APP

MBP

7/11/2016

TITLE

DWG. NO.

MATERIAL

DATE

REV.

NO.

DESCRIPTION OF REVISION

SH. SIZE

DATE

DR

Rigid Wall II Outside Corner Detail

 

 

DAS
7/25/16

2 3/4"

1 1/2"

4"

Rigid Wall II Panel

Water and Air Resistive Barrier

1/2" Plywood (min.)

Insulation

Interior Finish

Membrane Strip Over Outside Corner Post

#10 x 1" Wafer Head Screw

Outside Corner Post

Horizontal Panel

*

1 1/8"



MCA681 - Support Z

MCA270 - J Closure

DATE

X:X

APP

ATAS INTERNATIONAL, INC

Allentown PA

610-395-8445

Mesa AZ

480-558-7210

B

SCALE

BY APP

MBP

7/11/2016

TITLE

DWG. NO.

MATERIAL

DATE

REV.

NO.

DESCRIPTION OF REVISION

SH. SIZE

DATE

DR

Rigid Wall II Top of Wall Detail

 

 

DAS

7/25/16

1 1/8"

7/8"

1"

3/4"

1"

*

Horizontal Panel

J Closure

Support Z

#10 x 1" Wafer Head Screw

Water and Air Resistive Barrier

1/2" Plywood (min.)

Insulation

Rigid Wall II Panel

Interior Finish

Wood Nailer

Painted Pop Rivet (24" O.C. Max)

1 3/4"

Coping System (Rapid-Lok Coping System)



 

MCA661 - Base Trim

MCA681 - Support Z

MCA995 - Starter Cleat

DATE

X:X

APP

ATAS INTERNATIONAL, INC

Allentown PA

610-395-8445

Mesa AZ

480-558-7210

B

SCALE

BY APP

JAC

8/2/2018

TITLE

DWG. NO.

MATERIAL

DATE

REV.

NO.

DESCRIPTION OF REVISION

SH. SIZE

DATE

DR

 

 

 

*

*

1"

1"

3/4"

3"

1/2"

1 1/4"

1/2"

Window

Ring Shank Nail

Base Trim

Water and Air Resistive Barrier

#10 x 1" Wafer Head Screw

Membrane Strip

S.S. Painted Pop Rivet

24" O.C.

Support Z

Plywood Substrate

Insulation

Rigid Wall II Head Window Flange Detail

Starter Cleat

Rigid Wall II Panel

Horizontal Panel

1 1/4"

3/4"



 

MCA118 - J Channel

MCA680 - Angle Trim

DATE

X:X

APP

ATAS INTERNATIONAL, INC

Allentown PA

610-395-8445

Mesa AZ

480-558-7210

B

SCALE

BY APP

JAC

8/2/2018

TITLE

DWG. NO.

MATERIAL

DATE

REV.

NO.

DESCRIPTION OF REVISION

SH. SIZE

DATE

DR

 

 

 

Rigid Wall II Jamb Window Flange Detail

Ring Shank Nail

Trim Board

Backer Rod and Sealant

#10 x 1" Wafer Head Screw

J Channel

Angle Trim

ATA-Guard

Plywood Substrate

Insulation

Window

Rigid Wall II Panel

1 5/8"

1"

1 5/8"

1 1/8"

3/4"

1/4" C.H.



 

MCA118 - J Channel
MCA680 - Angle Trim

 

MCA681 - Support Z

DATE

X:X

APP

ATAS INTERNATIONAL, INC

Allentown PA

610-395-8445

Mesa AZ

480-558-7210

B

SCALE

BY APP

JAC

8/3/2018

TITLE

DWG. NO.

MATERIAL

DATE

REV.

NO.

DESCRIPTION OF REVISION

SH. SIZE

DATE

DR

 

 

 

Rigid Wall II Window Sill Flange Detail

3/4"

1"

1"

1 5/8"

1"

1 5/8"

1 1/8"

3/4"

1/4" C.H.

S.S. Painted Pop Rivet 24" O.C.

Support Z

Angle Trim

#10 x 1" Wafer Head Screw

Window

ATA-Guard

Insulation

Plywood Substrate

Ring Shank Nail

J Channel

Rigid Wall II Panel

Backer Rod and Sealant

Trim Board



MCA550 - Head Trim 

Head Support Z

 

DATE

X:X

APP

ATAS INTERNATIONAL, INC

Allentown PA

610-395-8445

Mesa AZ

480-558-7210

B

SCALE

BY APP

DMR

7/11/2016

TITLE

DWG. NO.

MATERIAL

DATE

REV.

NO.

DESCRIPTION OF REVISION

SH. SIZE

DATE

DR

 Rigid Wall II Head (Existing Window) Detail

 

 

DAS 7/25/16

*

*

Horizontal Panel 

2"

3"

92

1/2" O.H.

1 1/4"

Existing Window 

Painted Pop Rivet (24" O.C. Max.)

Backer Rod and Sealant 

#10 x 1" Wafer Head Screw 

Head Angle Trim

Head Trim 

Membrane Strip over Head Trim and Fastener 

Rigid Wall II Panel

Support Z

Water and Air Resistive Barrier 

1/2" Plywood (min.)

Insulation

Interior Finish 

3/4"

1 1/4"

1/2"



MCA118 - J Channel 

MCA680 - Angle Trim 

DATE

X:X

APP

ATAS INTERNATIONAL, INC

Allentown PA

610-395-8445

Mesa AZ

480-558-7210

B

SCALE

BY APP

DMR

7/11/2016

TITLE

DWG. NO.

MATERIAL

DATE

REV.

NO.

DESCRIPTION OF REVISION

SH. SIZE

DATE

DR

 Rigid Wall II (Existing Window) Jamb Detail

 

 

DAS

7/25/16

Existing Window 

Backer Rod and Sealant 

Butyl Tape 

Angle Trim

J Channel 

#10 x 1" Wafer Head Screw

Membrane Strip over J Channel and Angle Trim 

Water and Air Resistive Barrier 

1/2" Plywood (min.)

Insulation

Interior Finish 

Rigid Wall II Panel 

Horizontal Panel 

1 1/8"

1 3/4"

1/4" C.H.

7/8"

1"

1 5/8"

*

*



MCA681 - Support Z

MCA680 - Angle Trim

MCA118 - J Closure

DATE

X:X

APP

ATAS INTERNATIONAL, INC

Allentown PA

610-395-8445

Mesa AZ

480-558-7210

B

SCALE

BY APP

MBP

7/11/2016

TITLE

DWG. NO.

MATERIAL

DATE

REV.

NO.

DESCRIPTION OF REVISION

SH. SIZE

DATE

DR

Rigid Wall II Existing Window Sill Detail

 

 

DAS

7/25/16

*

*

1"

1"

3/4"

Backer Rod and Sealant

Painted Pop Rivet (24" O.C. Max)

Support Z

#10 x 1" Wafer Head Screw

Water and Air Resistive Membrane

1/2" Plywood (min.)

Insulation

Interior Finish

Horizontal Panel

J Channel

Angle Trim

Existing Window 

Rigid Wall II Panel

1"

1 5/8"

1/4" C.H.

7/8"

1 1/8"

1 3/4"



MCA550 - Head Trim 

MCA690 - Head Angle Trim

 

DATE

X:X

APP

ATAS INTERNATIONAL, INC

Allentown PA

610-395-8445

Mesa AZ

480-558-7210

B

SCALE

BY APP

DMR

7/11/2016

TITLE

DWG. NO.

MATERIAL

DATE

REV.

NO.

DESCRIPTION OF REVISION

SH. SIZE

DATE

DR

 Rigid Wall II Head Detail

 

 

DAS 7/25/16

*

*

Horizontal Panel 

4 1/4"

1/2" W.H.

1/2"

2"

3"

92

1/2" O.H.

1 1/4"

Window 

Painted Pop Rivet (24" O.C. Max.)

Backer Rod and Sealant 

#10 x 1" Wafer Head Screw 

Head Angle Trim

Head Trim 

Membrane Strip over Head Trim and Fastener 

Rigid Wall II Panel

Support Z

Water and Air Resistive Barrier 

1/2" Plywood (min.)

Insulation

Interior Finish 



MCA683 - Angle Trim With Return

MCA118 - J Channel 

MCA680 - Angle Trim 

DATE

X:X

APP

ATAS INTERNATIONAL, INC

Allentown PA

610-395-8445

Mesa AZ

480-558-7210

B

SCALE

BY APP

DMR

7/11/2016

TITLE

DWG. NO.

MATERIAL

DATE

REV.

NO.

DESCRIPTION OF REVISION

SH. SIZE

DATE

DR

 Rigid Wall II Jamb Detail

 

 

DAS

7/25/16

Window 

Backer Rod and Sealant 

Butyl Tape 

Angle Trim With Return

Angle Trim

J Channel 

#10 x 1" Wafer Head Screw

Membrane Strip over J Channel and Angle Trim 

Water and Air Resistive Barrier 

1/2" Plywood (min.)

Insulation

Interior Finish 

Rigid Wall II Panel 

Horizontal Panel 

1 1/8"

1 3/4"

1/4" C.H.

7/8"

1"

1 5/8"

1/2" W.H.

3 1/2"

3"

*

*

*



MCA683 - Angle Trim With Return

MCA119 - Snap J Base

MCA680 - Angle Trim

DATE

X:X

APP

ATAS INTERNATIONAL, INC

Allentown PA

610-395-8445

Mesa AZ

480-558-7210

B

SCALE

BY APP

DMR

7/11/2016

TITLE

DWG. NO.

MATERIAL

DATE

REV.

NO.

DESCRIPTION OF REVISION

SH. SIZE

DATE

DR

 Rigid Wall II Jamb Alt Detail

 

 

DAS

7/25/16

Window 

Backer Rod and Sealant 

Butyl Tape 

Angle Trim With Return

#10 x 1" Wafer Head Screw

Membrane Strip over Snap J  Channel

 

Water and Air Resistive Barrier 

1/2" Plywood (min.)

Insulation

Interior Finish 

Rigid Wall II Panel 

Horizontal Panel - Alternate

1/2" W.H.

3 1/2"

3"

*

3"

1 1/8"

3/8"

13/16"

UNS078 - Snap J Cover

*

*

Snap J Channel

 

1 5/8"

1"

*

Angle Trim

1/2C.H.



J Closure

MCA681 - Support Z

MCA670 - Window Sill Trim

DATE

X:X

APP

ATAS INTERNATIONAL, INC

Allentown PA

610-395-8445

Mesa AZ

480-558-7210

B

SCALE

BY APP

MBP

7/11/2016

TITLE

DWG. NO.

MATERIAL

DATE

REV.

NO.

DESCRIPTION OF REVISION

SH. SIZE

DATE

DR

Rigid Wall II Window Sill Detail

 

 

DAS

7/25/16

7/8"

1 1/8"

1 3/4"

1"

1"

3/4"

Backer Rod and Sealant

Window Sill Trim

J Closure

Rigid Wall II Panel

Painted Pop Rivet (24" O.C. Max)

Support Z

#10 x 1" Wafer Head Screw

Water and Air Resistive Membrane

1/2" Plywood (min.)

Insulation

Interior Finish

Horizontal Panel

*

*

1/2" W.H.

3 3/4"

1"

2"

1/2" O.H.



DATE

X:X

APP

ATAS INTERNATIONAL, INC

Allentown PA

610-395-8445

Mesa AZ

480-558-7210

B

SCALE

BY APP

KRK

1/26/2015

TITLE

DWG. NO.

MATERIAL

DATE

REV.

NO.

DESCRIPTION OF REVISION

SH. SIZE

DATE

DR

 Rigid Wall II Panel Lap Detail

 

 

01

12/31/2019
Updated to show both notching on the same panel.

KRK

Notch 2"

Note: Factory Pre Notching is Available (direction of panel is required).

1/8" to 1/4" Gap Between Panels

Non-Hardening Butyl Sealant Bead

Field Notched 

Notch 2"



DATE

X:X

APP

ATAS INTERNATIONAL, INC

Allentown PA

610-395-8445

Mesa AZ

480-558-7210

B

SCALE

BY APP

KRK

1/26/2015

TITLE

DWG. NO.

MATERIAL

DATE

REV.

NO.

DESCRIPTION OF REVISION

SH. SIZE

DATE

DR

 Rigid Wall II Panel Lap Detail

 

 

Notch 2" 1/8" to 1/4" Gap Between Panels

(to allow for thermal expansion)

Tube Butyl Sealant 

Factory Pre-Notched Left to Right

                     (Direction of Panel is Required)

Notch 2"

Note: It is advisable to lap panels randomly throughout 

elevation to minimize continuous sight lines.

Neoprene

Subgirt

1 1/8"



DATE

X:X

APP

ATAS INTERNATIONAL, INC

Allentown PA

610-395-8445

Mesa AZ

480-558-7210

B

SCALE

BY APP

KRK

1/26/2015

TITLE

DWG. NO.

MATERIAL

DATE

REV.

NO.

DESCRIPTION OF REVISION

SH. SIZE

DATE

DR

 Rigid Wall II Panel Lap Detail

 

 

Factory Pre-Notched Right to Left 

                     (Direction of Panel is Required)

Notch 2"

Notch 2"

Tube Butyl Sealant 

Note: It is advisable to lap panels randomly throughout 

elevation to minimize continuous sight lines.

1/8" to 1/4" Gap Between Panels

(to allow for thermal expansion)

Subgirt

Neoprene

1 1/8"


